B &2 F £ £ =

1. BEEEEOERINR

EREROERRR

HEEZOERE BEIFLOLE)

(%)
100 r
80
60
s L 373 33.9 385
—— == —=
35.8
20
" . .
EF12EE TREI4E ERISE ERI6E
N=5,658 N=5,353 N=5,039 N=3 455

28



2. BEEERIIOO-ER

BEERIIM H-T-BE2HEHE

0 10 20 30 40(%)

OHA 33.9

1HUESFALUT
5FMHB1AAUT
1AAB2FAMT
27AMB3IFALT
3AMBARALT
AL HESHALT
SHAZI0CAALT
10 MZE0FHUT
205 M B30FAMUT
30AMB40EHEUT
405 MES0AMET 5o

50AME 0.

BOERICHD - FHECREZ(REFHOALL) (FRI12EELDLLE)

0 10,000 20,000 30,000 40,000 50,000 60,000 70,000 80,000 90,000 (F)

TERE165E ¢
00.

N=1261 | 82,5002
ER12EE
N=2.109 |

g S ha sl v San— i = P X i A
e MBS EARAERES (ER 17 F 1 ARAE)

28



